566 Chapter 5 Systems of Equations and Inequalities ‘

CONCEPT AND VOCABULARY CHECK

Fill in each blank so that the resulting statement is true.

1. A solution of a system of linear equations in 3, Consider the following system:
three variables iS'all ordered _______ of real ok yrg= 3 g
numbers that satisfies all/some of the equations in the T = 7 s
system. T > Eauation
- Circle the correct choice. Wy =z =132, Equation 3
2. Consider the following system: Equation 2 does not contain the variable .
. —
x+ y— z=—1 Equation 1 obtain a second equation that does not contaip ll?i
. : 5
2x — 2y — 5z = 7 Equation 2 variable, we can
4x + y — 2z = 7. Equation 3
We can climinate x from Equations 1 and 2 by
multiplying Equation 1 by and adding equations.
We can eliminate x from Equations 1 and 3 by
multiplying Equation 1 by and adding equations.
Xy = -4 Xy =
In Exercises -4, determine if the given ordered triple is a solution 15. y— z= I 16. ¢ x + 2=
of the system. 2x -4y g = —21 Yrg=
1. (2, —1,3) 2..(5, =3, ~2)
x+ y+ z= 4 x+ y+ z= 0 32¢x + y) + 5z = —1
x =2y — z= 1 x+2p—3z2= 35 17. 4 2(x — 3y + 42) = =9
2x— y—2z=-1 3x+ 4y + 2z = -1 41 + x) = =3(z — 3y)
3. (4,1,2) 4. (-1.3,2)
7z — 3 =2(x — 3v)
x =2y = 2 X =2y =) ’
J ki & 5 4 18. { Sy +3z — 7 = 4x
£ = — vy — 3z = — o
LS - “ 4+ 5z=32x—y)
y —dz=-T7 = g =4
Solve each svstem in Exercises 5—18. In Exercises 19-22, find the quadratic function y = ax” + bt~

whose graph passes through the given points.
19. (—1.6).(1.4).(2,9)
= 6 20. (-2,7),(1,-2),(2,3)
21, (—1,-4),(1,-2),(2.5)
x— y+3z= 8 22. (1.3),(3,-1),(4.0)
I+ y—2z=+=2
Iv+4y+ z= 0 In Exercises 23-24, let x represent the first number.y the

number, and z the third number. Use the given conditions

. p ers.
a system of equations. Solve the system and find the numb
¢ + 2y — 3z = -2 2+ 3y +7z= 13

3x . ¢ [\"]CC
9. {2{, — Sy + 25 =—2 10. {3.\‘ + 2y — 5z = -22 23. The sum of three numbers is 16. The sum of \4 i’
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x+ y+2z=11
S5.9x+ yv+3z=14 6.
X4 Zp— = 3

2x+ y—2
3 — 3p—
X — 2y &
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4 = y+ 2z =11
x4y~ z=-1 8.

Sﬂ-orhl‘
2x + 2y — 3z = —1

10 Wik

_ first number, 3 times the second number, and
4 — 3y + 4z = 10 5x+7y —3z=-28

the third number is 46. The difference between 3 U

mes I'l-
Find the ™

first number and the second number is 3L
x+ =3 numbers.
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2x — 4y + e
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24. The following is known about three numbersrﬂ.[;n‘ (e
us twice

11. 12.
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the first number plus the second number pl
number is 5. If 3 times the second number 15 s‘ublr et
Xx+3y+5z= 20 the sum of the first number and 3 times the tb”‘j ",u[imesﬁ“
y — 4z = —16 result is 2. If the third number is subtracted “Otme’resuh it

3 — i+ 0z = 36 first number and 3 times the second number:

Find the numbers.
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2x + vy =2

3Ax+2y+z=20
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